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Limiting Reactant calculations

1. If 15.5 g of aluminum are reacted with 46.7 g of chlorine gas, then aluminum chloride is formed. 

How much aluminum chloride is produced?  How many grams of the excess reactant?
2. How many grams of iron (II) iodide can be formed when 25.7 g of iron metal reacts with 105.0 g of    

    iodine gas? How many grams of execess will there be?
3. A chemist burns 160.0 g of aluminum metal in 100.0 g of oxygen to produce aluminum oxide. 

How many grams of aluminum oxide are formed.

4. If 7.56 g of zinc metal is placed in a solution containing 0.408 g of lead (II) nitrate, how many grams of 

    lead will be formed?

